
CZ Montážni návod

HU Szerelési útmutató

TR Montaj talimati

NL Handlieding voor de montage

SK Návod na montáž

RO
Instrukctiuni de montaj

RU

PL Instrukcja montazu

IT Istruzioni di montaggio

GB Assembly instructions

HNO—001

Art. Nr. 5360 8931,3926 4523

D

Montageanleitung

FR

Notice de montage

Инструкция по монтажу

A
u

s
g

a
b

e
:
2

0
2

2
0

9
0

9

of Style

Places





x42 x7 x1

x2 x4

x34

x2 x3 x2

x2

x18

of Style

Places

x1

3

x2 x4 x2

0
1

0
2

0
3

0
4

0
5

0
6

0
7

0
8

0
9

0
1

0
0

1
1

0
1

2
0

1
3

0
1

4
0

1
5

0
1

6
0

1
7

0
1

8
0

1
9

0
2

0
0

10
1

11
1

2
12

13

14

15

16

17

18

2

2

2

1

1

2

N

1

Qty

2

3

Size/MaB (mm)

Qty
Size/MaB (mm)N

4

5

6

7

8

9

1

1

1

1

1

1

1

1

1

595x40x742

1600x600x25

1536x40x20

552x96x15

357x98x15

357x98x15

357x98x15

1541x135x15

1516x248x15

350x80x15

350x80x15

680x79x15

334x46x15

753x96x15

753x96x15

690x345x5

x42 x1

A

I1

B C D E F

G H I J K

M N

I2

I3

I4

Ø15*12

Ø7.8*35 M6X55 4mm Ø4*40

M6X10 14"
Ø3.5X14

Ø7*38

Ø20

Ø7*48

L

x12

O

Ø7.8*35

x8

552x96x15

595x40x742



1

4

x4

1

11

x4

x4

4

A

C

B

B

A

C

D

E

D

A B

Ø15*12

Ø7.8*35

C

Ø20

x3

D

M6X55

x1x1

E

4mm

2





5

6

10

5

6

x4 x4

x4

G

D

E

D

E

A

C

B

A

B

C

A B

Ø15*12

Ø7.8*35

C

Ø20

x4

x2

D

M6X55

G

M6X10

E

4mm

6









11

12

10

1156mm

~7
42

m
m

x2

x2

x2

x2

17

18

F

L

M

K

K

of Style

Places

N

of Style

Places

x1

L
M

Ø7*38

K

Ø3.5X14

N

F

Ø4*40








